Why Did the Ghost Decide to Haunt City Hall?
Solve each system of equations using substitution.  SHOW ALL WORK!!!  Find the solution in the nearest answer column and notice the 
two letters next to it.  Print these two letters in the two boxes at the bottom of the page that correspond to the number of the exercise.


1.
y = 2 x
7.
-2 x + 3 y = 14



x + y = 12

x + 2 y = 7


2.
x = 3 y – 1
8.
6 x – y = -4



x + 2 y = 9

2 x + 2 y = 15


3.
y = 2 x – 5
9.
x + y = 1



4 x – y = 7

2 x – y = -2


4.
2 x – 3 y = 12
10.
5 x – 3 y = -11



x = 4 y + 1

x – 2 y = 2


5.
y = 5 – x 
11.
x – y = 3



x – 4 y = 10

6 x + 4 y = 13


6.
x – y = 2
12.
2 x – y = 16



4 x – 3 y = 11

2 y – x = -8
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Answers #1-6:


ST	( 4, 2 )   


TO	( 6, -1 )   SA	( 1, 2 )   


IT	( 4 , 8 )  


NT	( 1, -3 )   TH	( 6, -3 )   ED	( 9, 2 )   


BE	( 5, 3 )  


HA	( 7, 3 )   WA	( 5, 2 )   	





Answers #7-12:


ER	( 1/2, -3 )   


TE	( 8, -1/2 )   IG	( -1/3, 4/3 )   


RE	( 8 , 0 )  


ST	( -3, 4 )   EN	( ½ , 7 )   EX	( 5/2, 4/3 )   


TH	( -1, 4 )  


MA	(5/2, -1/2 )   HT	( -4, -3 )   	








